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boolean hasDu
for (int{ i = 0; (1
for(int‘j_
"7hasDup asDup
} /* end inner foro%/
lystem.out.println




alj]l | al[i] == al]] hasDup
1 frue false
2 false false
3 false false
1 false false
2 frue false
3 false false
1 false false
2 false false
3 r false




1 /\Cifrsion 2 with redundant scan */

M./\/\/——A'\
2 |int[]
3 | boolea
Z%[E%;)int |
5 or (i |
6 hasDup |
7 } /+ end inner for x/ } /* end outer for */
8 | System.out.println(hasDup);
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/+* Version 3 with no redundant scan:

* array with duplicates causes early exit

*/
int[] a = {1, 2, 3, 2}; /* duplicates: a[l] and a[3] */

boolean hasDup = false;
| for(int i = 0; J _a.length &&
ThasDup

| for (int J' j < a.length &&

| hasDup = a[i] == al[j] ;
} /+ end inner for */ } /* end outer for */
System.out.println(hasDup);
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Scanner Gnput/= new Scanner(System.in);

System.out.println("How many cities?");

int (howMany E)input.nextInt(); input.nextLine () [ <;;>
String[]ztri = new StringfhowMany’ (;;(:>

/* Read cities in the trip from the user. =*

for(int i = 0; i < howMany; 1 ++) {
System.out.println("Enter a city:"); f7f7
trip(i] = input.nextLine();

}

10 | /» Add up source-to-destination distances.

11 r‘int dist] = 0; /

Co~NOOOP~hWON =

17(\( .e(‘nalg(”fz ))K[

[ e - € S(.waa ){
C UHitol 5




13
14
15
16
17
18
19
20
21
22
23
24
25

String src = trip[i];

Stri dst = trd [ ;
iﬁ equals ( )|
i

st.equals ("Boston")) {dist += fromChicago[BOSTON];}

else if (dst.equals ("New York")) {dist += fromChicago[NY];}
}
else if equals {
if (dst.equals ("Chicago")) {dist += fromBoston[CHICAGO];}
else if (dst.equals ("NEW YORK")) {dist += fromBoston|[NY];}
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A1) al = ves @5
al (o] = |
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5 | @iyl 4l = {
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tances =

{ , 9? (7@ 714, 1375 967, 1087’
@983, 0, 214, 1102, 1763, 1723, 1842}g)
@787, 214, 0, 888, 1549, 1548, 1627}y
@714, 1102, 888, 0,,661, 781, 810’
@{1375, 1763, “2‘661 0, 1426, 1187¥)
{967, 1723, 1548, 781, 1426, 0, 239})
{1087, 1842, 1627, 810, 1187, 239, Ob
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final int CHICAGO = 0;
final int BOSTON = 1;

final int HOUSTON = 6;
int— = distances[MIAMI] [BOSTON] ;

int BostonToNewYork = distances[BOSTON] [NEWYORK] ;
int MiamiToNewYork = MiamiToBoston + BostonToNewYork;
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